R = 4 S THIR1RK 7 R i X S A A BRAK WK 2
3 (] 1 RE TEBLRAUT A 20234E9 A 17 H
F— A 1 2 3 4 5 6 7 8 9 it
FKH PG 0 0 0 2 0 0 0 0 0 2
FRHALE 0 0 0 0 0 0 0 0 3X 0
T —7 )b
F— | FTEC| RET | BT | DUSE | SR | R | RER | R | R | Bl
TKHpG¥E | 31 9 3 3 3 0 8 0 2
BHEALE | 27 3 1 4 6 0 5 0 0 2
Ny T ) —
F— A 1 + W F
TKHpE | B BOK (6)  fEx R BZsieos  WE O (0/3) JCH T
K HAEME ek JH (8) T 2 0 4 BRE
E & H
AT L ERk5E BRI
=8 L —5 PAL N ESTE]
TR AR R (RKEAILE) -8 FEHIFNE
=8 % R
1 P SIN 25
R = 4 SRS THIR1RK 7 FRCA L M X S S A P BR K WK 2
3 =5 %2 RE CEBLRITUT A 20234E9 A 17 H
F— A 1 D 3 4 5 6 7 8 | 9 | | | it
GEAA 0 0 2 4 0 1 0 I 7
SER e S 0 0 0 0 0 0 0 0
T—7 )L
F— | FTEC| ZET | BT | TUSE | SR | R | R | KR | OR | Bl
REAVERRE | 381 15 0 7 3 3 10 2 0 1
MAIIT¥ | 25 6 2 4 3 0 10 1 1 0
Ny T U —
F— L e F W F
REACKARS | BTEE S0 (6,1/3)  JEAK AR s 4GHD BEK (1/3) A
. g b (4,13 HEa R fEE (-2 fEE B (D e e
HF T3 Ve ke B (1) g B
® 4T &
AT L Bk KRS
=8 T L —5 I HL
TR Akl FZE. ERHBE (BRI —5 KRFEZ
=& SeHEA
P FEEIFnZ#




